Intake Kit Installation Instructions:

Infiniti G35/FX35 3.5L-V6 2003.5-2006

Kit Part # 51/54-11092 Tools Required: Part List: 2 Nylon spacers 1 T20 torx bit \
5/16" nut driver 1 Air Filter (replacement #24-55505) or 14" 7/16” trim seal 3 Washer wavy, M6
Make: Infiniti 10mm socket w/ extension and ratchet Pro Dry S™ 21-55505 3 Button head M6x1x10
} 10mm open/box end wrench 1 Intake tube i \?\/Crer\:v‘ M’ja
— Model Year Enaine Flat head/slotted screwdriver 1 Housing asher,
P.O. Box 1719 G35 2003.5-2006 3.5L V6 5/32” allen wrench 1 Coupler 3" x 2" 2 M4, Screws MAF Sensor
. FX35 2004-2005 3.5L V6 . 1 Coupler reducer 1 MAF Sensor Gasket
Corona, CA 92878 Torx bit T20 3 Clamp #056 1 5 1/2" adapter
Support: 951-493-7100 amp p
www.aFefilters.com LD 02
1 Step 1 ) N\ 1 Step 2 J ™ 1 Step 3 ] N\ 1 Step 4 ) N\ 1 Step 5 ] N\
o DA /N / h ket w/ ratch h N -
o - - - i With 10mm socket w/ ratchet remove the two 10mm ) ' -
Complete kit with parts. Complete stock intake. Remove the 4 bolts holding the factory engine cover with : ; Disconnect the factory crank case line from OEM intake
P P P 10mm socket w/ ratchet Rg movi nr)i,n g ver bolts from the OEM intake tube and airbox. Loosen the tube. Disconnect MAF sensor wire hamness from intake.
socke aichet. Remove engine cover. top of OEM intake tube w/ 5/16” nut driver.

‘ Step 6 ] \ 1 Step 7 J \ ‘ Step 8 ) \ ‘ Step 9 ] \ ‘ Step 10 ] \
o /O / AN NG J
Carefully remove OEM intake assembly. Place trim seal on top of new housing, With 5 1/2” Carefully remove the bolt holding radiator bracket. Place With 10mm socket or wrench, tighten down housing With T20 Torx bit, loosen the 2 bolts holding in MAF sen-

adapter, place inside of new housing with 3 button head ?ﬁ;ﬁ?@ﬁﬁ'” itlﬂsl\l/?ﬁe sf:}:r:g\;,e-lrrg)sv? de%lcrel‘gc(eDge’\I‘wci)J dO(s/ER using provided M6 screw. sor. Carefully remove sensor out of OE intake.
screws provided, tighten with 5/32” allen key. fam air Uit in housing andptighten.' p
( Step1 ] N ( sStep12 ] N\ ( step13 ] N ( Step14 ] N ( Step 15 ] ™\

Re-insert MAF sensor into new intake tube. With gasket
and nylon spacers provided, place in between tube and
sensor. tighten with screws provided.

onto new tube.

Note: Filter Cleaning and Re-oiling: When cleaning your aFe filter, be sure to use only aFe’s “Restore Kit" (aFe P/N: 90-50001 blue oil aerosol, or aFe P/N: 90-50501 blue squeeze bottle oil). Filter Replacement: PN: 24-55505 (black w/blue media). Pro Dry S™ P/N: 21-55505 (black w/ white media) Pro Dry S™ clean-

ing: see cleaning instruction sheet 06-00074

Place aFe tube inside vehicle, Re-insert crankcase line

Place straight coupler onto tube with clamps provided.
Tighten using 5/16” nut driver. Place coupler reducer on
other end of intake tube and tighten onto housing /
adapter.

5/16" nut driver.

Place high FLOW filter into housing and tighten using

Your installation is now complete. Check all clamps and
hoses periodically.Thank you for choosing aFe!

06-80183




